Soustraction (F)

Calculez la différence.

446 940 488 960
—63 =60 =51 =25
287 o388 830 204
—9% =8 =94 =176
642 611 994 973
—60 =13 =43 =35
964 826 649 833
-—59 =49 =68 =32
617 128 859 424
—40 =65 =58 =87
268 690 108 848
-4 =60 =8 =99
635 295 760 344
-5 =41 =32 =53
772 948 234 475
-4 =91 =67 =82
283 859 287 712
=29 =23 =32 =6l
214 404 296 854
—12 =69 =22 =59

301 782 b78 563 960 799
-29 =47 =31 =1vr =20 =14
332 429 592 658 633 795
=50 =43 =55 =50 =289 =97
507 564 353 395 321 162
-7 =35 =28 =20 =10 =27
218 610 454 596 385 816
-12 =70 =79 =24 =48 =11
385 187 476 165 675 810
—43 =77 =84 =72 =53 =235
173 328 796 533 849 984
—20 =73 =65 =14 =35 =98
302 464 642 205 572 638
-8 =35 =43 =71 =38 =16
711 107 280 132 333 539
-—94 =43 =54 =54 =57 =85
659 163 459 859 263 945
—-29 =8 =24 =71 =26 =17
123 771 212 448 oll 640
-3 =34 =45 =67Y =10 =44
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